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focuses on finding theconditions of extrema
for quantities that can be expressed as
an integral
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be an interesting way to develop an
equivalentformulation of mechanics
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Using Calculus ofvariations we can show
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a line
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And we need to investigatewhathappens in
general

Take a function that is being integrated
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Integrate by parts
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ok after all that
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now let's apply the Euler Lagrange
formulation
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Lets assume you are walking on the
beach and need to get to the water
quickly Where do you enter the
water to minimize time
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